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ACCOUNTING  311   Managerial (Cost)
PRIOR FINAL EXAMINATION 
  This exam consists of 13 pages including this cover.

You have 1 hour and 50 minutes to complete it.

Have a great break!

I do not hand back final exams.
However, stop by next quarter if you want to review your final and the key.

Best of luck in everything that you do.
--Larry

The only disability in life is a bad attitude—Scott Hamilton

Please put your name on this front cover and initial the top of all other pages—Thank you.

For multiple choice questions, circle the best answer.

Please be neat.  In some places, space is tight to keep the entire question on one page.
1.  The following data for the WEI Company pertain to the production of 1,000 urns during August.

Direct Materials (all materials purchased were used):



  Standard cost: $6.00 per pound.



  Total actual cost: $5,600.



  Standard cost allowed for units produced was $6,000.



  Materials efficiency variance was $120 unfavorable.


Direct Manufacturing Labor:



    Standard cost is 2 urns per hour at $24.00 per hour.



    Actual cost per hour was $24.50.



    Labor efficiency variance was $336 favorable.


What is standard direct material amount (pounds) per urn?  [3 pts.]


What is the direct material price variance?   [3 pts.]


What is the total actual cost of direct manufacturing labor?  [4 pts.]

What is the labor price variance for direct manufacturing labor?  [4 pts.]

2.  Under the stand-alone method of allocating common costs:


A.  a ranking is used to allocate costs among the users.


B.  disputes can arise over who is the primary user

C.  each party bears a proportionate share of the total costs in relation to their individual stand-alone costs.


D.  an incentive is created to be the first-ranked user.

3. All contracts with U.S. government agencies must comply with cost accounting standards issued by the:

A.  FASB

B.  SEC

C.  IRS

D.  CASB

4.  DORJEE Corporation manufactures football jerseys and uses budgeted machine-hours to allocate variable manufacturing overhead.  The following information pertains to the company's manufacturing overhead data.  [12 pts. total; 3 pts each]

Budgeted output units


20,000 units

Budgeted machine-hours

30,000 hours

Budgeted variable manufacturing overhead costs for 20,000 units
$360,000

Actual output units produced

18,000 units

Actual machine-hours used

28,000 hours

Actual variable manufacturing overhead costs
$342,000

What is the budgeted variable overhead cost rate per output unit?

What is the flexible-budget amount for variable manufacturing overhead?

What is the flexible-budget variance for variable manufacturing overhead?

Variable-manufacturing overhead costs were __________ for actual output.


A.  higher than expected


B.  the same as expected


C.  lower than expected


D.  unable to be determined

5.  For fixed manufacturing overhead, there is no:  [4 pts.]


A.  spending variance.


B.  efficiency variance.


C.  flexible-budget variance.


D.  production-volume variance.

6.  For fixed manufacturing overhead, what two variances added together equal over/under-applied overhead?  [4 pts.]
7. Your company has two divisions.  One division in the USA buys parts from the other division in Sweden.  US corporate tax rates are 36% and Swedish corporate tax rates are 65%.  At what level should your company set transfer prices in order to minimize global taxes?  [4 pts.]

A.  set the transfer price as high as tax law will allow.

B.  set the transfer price as low as tax law will allow.
C.  set the transfer price as close to market price as you can.

D.  it makes no difference where you set the transfer price, taxes are the same.

8. An advantage of a negotiated transfer price is the:  [4 pts.]
A.  close relationship between the negotiated price and the market price.
B.  negotiated transfer price preserves divisional autonomy.
C.  negotiations usually do not require much time and energy.
D.  Both B and C are correct.

9. An example of a performance measure with a long-run time horizon is:

A.  direct materials efficiency variances.
B.  overhead spending variances.
C.  number of new patents developed.
D.  All of these answers are correct.

10. The HENNINGS Appliance Manufacturing Corporation manufactures two vacuum cleaners, the Standard and the Super. The following information was gathered about the two products:



Standard
Super
Budgeted sales in units
3,200
800

Budgeted selling price
$300
$850

Budgeted contribution margin per unit
$210
$550

Actual sales in units
3,500
1,500

Actual selling price
$325
$840

What is the budgeted sales-mix percentage for the Standard and the Super vacuum cleaners, respectively?  [4 pts.]

What is the total sales-volume variance in terms of the contribution margin?  [4 pts.]

What is the total sales-quantity variance in terms of the contribution margin?  [4 pts.]

What is the total sales-mix variance in terms of the contribution margin?  [4 pts.]

11. McClimans Company manufactures remote control devices for garage doors. The following information was collected during June:
Actual market size (units)
10,000

Actual market share
32%

Actual average selling price
$10.00

Budgeted market size (units)
11,000

Budgeted market share
30%

Budgeted average selling price
$11.00

Budgeted contribution margin per

  composite unit for budgeted mix (average)
$  5.00

What is the market-size variance (use CM)?  [4 pts.]
What is the market-share variance (use CM)?  [4 pts.]
12. Outputs (from a joint process) with zero sales value are accounted for by

A.  listing these various outputs in a footnote to the financial statements.

B.  including the items as a relatively small portion of the value assigned to the products produced during the accounting period.

C.  making journal entries to reflect an estimate of possible values.

D.  none of the above.

13. An unfavorable flexible-budget variance for variable costs may be the result of:

A.  using more input quantities than were budgeted.
B.  paying higher prices for inputs than were budgeted.
C.  selling output at a higher selling price than budgeted.
D.  Both A and B are correct.

14. SANTOS Battery Company has two service departments, Maintenance and Personnel. Maintenance Department costs of $160,000 are allocated on the basis of budgeted maintenance-hours.  Personnel Department costs of $40,000 are allocated based on the number of employees. The costs of operating departments A and B are $80,000 and $120,000, respectively. Data on budgeted maintenance-hours and number of employees are as follows:

	
	Support Departments
	Production Departments

	
	Maintenance Department
	Personnel

Department
	A
	B

	Budgeted costs
	$160,000
	$40,000
	$80,000
	$120,000

	Budgeted maintenance-hours
	80
	400
	480
	320

	Number of employees
	20
	10
	80
	240


Using the direct method, what total amount of support department costs will be allocated to Department B?  [6 pts.]

Using the step-down method, what total amount of support department costs will be allocated to Department B if the service department with the highest percentage of interdepartmental support service is allocated first?  [6 pts.]

What is the equation for the Maintenance Department’s artificial cost if the reciprocal method is used?  Carry answer out to 4 decimal places  [6 pts.]   

15. LIM Sauce Company processes tomatoes into catsup, tomato juice, and canned tomatoes. During the summer of 2008, the joint costs of processing the tomatoes were $420,000. There was no beginning or ending inventories for the summer. Production and sales value information for the summer were as follows:

	Product
	Cases
	Sales Value

at Splitoff Point
	Separable Costs
	Selling Price

	Catsup
	100,000
	$6 per case
	$3.00 per case
	$28 per case

	Juice
	150,000
	8 per case
	5.00 per case
	25 per case

	Canned
	200,000
	5 per case
	2.50 per case
	10 per case


Determine the amount of joint cost allocated to each product if the estimated net realizable value method is used.    [9 pts.]

If you used the Constant Gross Margin Net Realizable Value method, what would be the constant-gross-margin percentage?   [4 pts.]

If you used the sales-value-at-splitoff method, how much joint cost would be allocated to Catsup?  [3 pts., no partial points]
16. The Assembly Division of American Car Company has offered to purchase 90,000 batteries from the Electrical Division for $120 per unit.  At a normal volume of 250,000 batteries per year, production costs per battery are as follows:

	Direct materials
	$  40

	Direct manufacturing labor
	28

	Variable factory overhead
	12

	Fixed factory overhead
	50

	     Total
	$130


The Electrical Division has been selling 250,000 batteries per year to outside buyers at $137 each; capacity is 350,000 batteries per year.  The Assembly Division has been buying batteries from outside sources for $130 each.

If the transfer price is set at $120/battery, would this be in the best interests of the Corporation?  If internal transfer is in the best interests of the corporation, how much will it save?  Give total dollar amount.  [4 pts.]

If the Assembly Division manager and the Electrical Division manager are allowed to negotiate a transfer price, what is the min. and max. transfer price?  [4 pts.]

Now assume that the Electrical Division has just signed a new deal to sell 50,000 batteries/year to Costco for $126 each.  As part of this agreement, the Electrical Division will have to pay a $2 million fine if it delivers anything less than 50,000 batteries/year to Costco.  The Assembly Division wants to buy 90,000 (all or nothing) batteries from the Electrical Division.  If the Assembly Division manager and the Electrical Division manager are allowed to negotiate a transfer price, what is the min. and max. transfer price?  [4 pts.]  Hard question.
17.  In analyzing transfer prices, the

A.  buyer will not willingly purchase a product for less than the incremental costs incurred to manufacture the product internally.

B.  seller will not willingly sell a product for less than the incremental costs incurred to make the product.

C.  buyer will willingly pay more than the max. transfer price.

D.  buyer will not pay less than the max. transfer price.

18.  The benefits of a decentralized organization are greater when a company 

A.  is large and unregulated.

B.  is facing great uncertainties in their environment.

C.  has few interdependencies among division.

D.  is all of the above.

19.  What is the term used to describe the situation when a manager's decision which benefits her subunit is more than offset by the costs to the organization as a whole?

A.  Suboptimal decision making

B.  Functional decision making

C.  Congruent decision making

D.  Both (B) and (C)

E.  None of the above

20. The Alpha Beta Corporation had the following information for 2008:

Revenue
$   900,000

Operating expenses
670,000

Total assets
1,150,000


What is the return on investment?

A.  10%

B.  20%

C.  25%

D.  78.2%

21.  A problem with using residual income is that a corporation with a:

A.  high investment turnover ratio always has a higher residual income than a corporation with a smaller investment turnover ratio.

B.  high return on sales always has a higher residual income than a corporation with a smaller return on sales.

C.  larger dollar amount of assets is likely to have a higher residual income than a corporation with a smaller dollar amount of assets.

D.  None of these answers is correct.

22. Springfield Corporation, whose tax rate is 40%, has two sources of funds: long-term debt with a market value of $8,000,000 and an interest rate of 8%, and equity capital with a market value of $12,000,000 and a cost of equity of 12%.  Springfield has two operating divisions, the Blue division and the Gold division, with the following financial measures for the current year:

	 
	Total Assets
	Current Liabilities
	Operating
Income

	Blue Div.
	$9,500,000
	$2,800,000
	$1,055,000

	Gold Div.
	$11,000,000
	$2,200,000
	$1,200,000



What is Economic Value Added (EVA®) for the Blue Division? [6 pts.]
A.  –$233,400

B.  $  21,960

C.  $188,600

D.  $433,960

23. Provide the missing data for the following situations:  [12 pts., 4 pts. each]
	
	Red Division

	Sales
	$A

	Net operating income
	$200,000

	Operating assets
	$B

	Return on investment
	0.16

	Return on sales
	0.04

	Investment turnover
	C


Answer:

A =    

B = 

C = 

24. A favorable price variance for direct manufacturing labor might indicate that:

A.  employees were paid more than planned.

B.  budgeted price standards are too tight.

C.  underskilled employees are being hired.

D.  an efficient labor force.

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 25 THROUGH 27:

Ruben’s Camera Shop has prepared the following flexible budget for September and is in the process of interpreting the variances. F denotes a favorable variance and U denotes an unfavorable variance.

Flexible
------------Variances-------------


Budget
Price
Efficiency

Material A
$20,000
$1,000F
$3,000U

Material B
30,000
500U
1,500F

Direct manufacturing labor
40,000
500U
2,500F
25.
The MOST likely explanation of the above variances for Material A is that:

A.  a lower price than expected was paid for Material A.
B.  higher-quality raw materials were used than were planned.
C.  the company used a higher-priced supplier.
D.  Material A used during September was $2,000 less than expected.
26.
The actual amount spent for Material B was:

A.  $28,000

B.  $29,000 
C.  $30,000

D.  $31,000

27.
The MOST likely explanation of the above direct manufacturing labor variances is that: 

A.  the average wage rate paid to employees was less than expected


B.  employees did not work as efficiently as expected to accomplish the job 

C.  the company may have assigned more experienced employees this month than originally planned

D.  management may have a problem with budget slack and might be using lax standards for both labor-wage rates and expected efficiency

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 28 AND 29:

Northwoods manufactures rustic furniture. The cost accounting system estimates manufacturing costs to be $90 per table, consisting of 80% variable costs and 20% fixed costs. The company has surplus capacity available. It is Northwoods’ policy to add a 50% markup to full costs.

28. Northwoods is invited to bid on a one-time-only special order to supply 100 rustic tables. What is the lowest price Northwoods should bid on this special order? 

A.  $ 6,300

B.  $ 7,200

C.  $ 9,000

D.  $13,500

29.
A large hotel chain is currently expanding and has decided to decorate all new hotels using the rustic style. Northwoods Incorporated is invited to submit a bid to the hotel chain. What is the lowest price per unit Northwoods should bid on this long-term order?

A.  $ 63

B.  $ 72

C.  $ 90

D.  $135

30. Which of the following minimize the risks of outsourcing?  [3 pts.]
A.  the use of short-term contracts that specify price.

B.  the responsibility for on-time delivery is now the responsibility of the supplier.

C.  building close relationships with the supplier.

D.  All of these answers are correct.

31. Relevant costs in a make-or-buy decision of a part include:   [3 pts.]
A.  setup overhead for the manufacture of the product using the outsourced part.

B.  currently used manufacturing capacity that has alternative uses.

C.  annual plant insurance costs that will remain the same.

D.  corporate office costs that will be allocated differently.

1.  The following data for the CAHN Company pertain to the production of 1,000 urns during August.

Direct Materials (all materials purchased were used):



  Standard cost: $6.00 per pound.



  Total actual cost: $5,600.



  Standard cost allowed for units produced was $6,000.



  Materials efficiency variance was $120 unfavorable.


Direct Manufacturing Labor:



    Standard cost is 2 urns per hour at $24.00 per hour.



    Actual cost per hour was $24.50.



    Labor efficiency variance was $336 favorable.


What is standard direct material amount (pounds) per urn?  [3 pts.]



Std. cost / urn = $6,000 / 1,000 urns = $6.00/urn



Std. pounds/urn = $6.00/urn  / $6.00/pound = 1.0 pound per urn


What is the direct material price variance?   [3 pts.]



Flex-B var. =  $5,600 – 6,000 = $400F



Price var. = $400F - $120U = $520F

What is the total actual cost of direct manufacturing labor?  [4 pts.]

(A.hrs – B.hrs) *std. wage = $336 F;     (A.hrs – 500hrs) = 336/24 = 14hrs


A.hrs = 500-14 = 486 hrs;    Actual $ = 486hr * $24.50/hr = $11,907

What is the labor price variance for direct manufacturing labor?  [4 pts.]



Flex.budget = 500hr*$24/hr = $12,000;   Flex. Budget var. = $12,000 - $11,907 = $93F;   93F – 336 F = $243 U;;  or noname budget =  486 * 24.00 = $11,664.


= $11,907 - $11,664 = $243 U          or  486 hr * $0.50 = $243 U

2.  Under the stand-alone method of allocating common costs:


A.  a ranking is used to allocate costs among the users.

B.  disputes can arise over who is the primary user.
C.  each party bears a proportionate share of the total costs in relation to their individual stand-alone costs.

D.  an incentive is created to be the first-ranked user.
3. All contracts with U.S. government agencies must comply with cost accounting standards issued by the:

A.  FASB

B.  SEC

C.  IRS

D.  CASB

4.  CYCYOTA Corporation manufactures football jerseys and uses budgeted machine-hours to allocate variable manufacturing overhead.  The following information pertains to the company's manufacturing overhead data.  [12 pts. total; 3 pts each]

Budgeted output units


20,000 units

Budgeted machine-hours

30,000 hours

Budgeted variable manufacturing overhead costs for 20,000 units
$360,000

Actual output units produced

18,000 units

Actual machine-hours used

28,000 hours

Actual variable manufacturing overhead costs
$342,000

What is the budgeted variable overhead cost rate per output unit?


$360,000/20,000 = $18.00
What is the flexible-budget amount for variable manufacturing overhead?


18,000 units * ($360,000/20,000)] = $324,000

What is the flexible-budget variance for variable manufacturing overhead?


$342,000 – [18,000 x ($360,000/20,000)] = $18,000 Unfavorable
Variable-manufacturing overhead costs were __________ for actual output.


A.  higher than expected


B.  the same as expected


C.  lower than expected


D.  unable to be determined

5.  For fixed manufacturing overhead, there is no  [4 pts.]


A.  spending variance.


B.  efficiency variance.


C.  flexible-budget variance.


D.  production-volume variance.

6.  For fixed manufacturing overhead, what two variances added together equal over/under-applied overhead?  [4 pts.]

Static (or flex. or spending) variance plus production-volume variance equals the fixed overhead over/under-applied.

7. Your company has two divisions.  One division in the USA buys parts from the other division in Sweden.  US corporate tax rates are 36% and Swedish corporate tax rates are 65%.  At what level should your company set transfer prices in order to minimize global taxes?  [4 pts.]

A.  set the transfer price as high as tax law will allow.

B.  set the transfer price as low as tax law will allow.
C.  set the transfer price as close to market price as you can.

D.  it makes no difference where you set the transfer price, taxes are the same.

8. An advantage of a negotiated transfer price is the:  [4 pts.]

A.  close relationship between the negotiated price and the market price.

B.  negotiated transfer price preserves divisional autonomy.

C.  negotiations usually do not require much time and energy.

D.  Both b and c are correct.

9. An example of a performance measure with a long-run time horizon is:

A.  direct materials efficiency variances.
B.  overhead spending variances.
C.  number of new patents developed.
D.  All of these answers are correct.

10. The ZAINAL Appliance Manufacturing Corporation manufactures two vacuum cleaners, the Standard and the Super. The following information was gathered about the two products:



Standard
Super
Budgeted sales in units
3,200
800

Budgeted selling price
$300
$850

Budgeted contribution margin per unit
$210
$550

Actual sales in units
3,500
1,500

Actual selling price
$325
$840

What is the budgeted sales-mix percentage for the Standard and the Super vacuum cleaners, respectively?  [4 pts.]


3,200/(3,200 + 800) = 80% and 800/(3,200 + 800) = 20%

What is the total sales-volume variance in terms of the contribution margin?  [4 pts.]


Standard
= (3,500 - 3,200) * $210 =
$  63,000 F


Super 
= (1,500 - 800) * $550 =
  385,000 F







$448,000 F

What is the total sales-quantity variance in terms of the contribution margin?  [4 pts.]


Standard
= (5,000 - 4,000) * 0.8 x 210 = $168,000 F


Super  
= (5,000 - 4,000) * 0.2 x 550 =   110,000 F







  $278,000 F

What is the total sales-mix variance in terms of the contribution margin?  [4 pts.]


Standard
= 5,000 x (0.7 - 0.8) x 210 = 
$105,000 U


Super 
= 5,000 x (0.3 - 0.2) x 550 = 
$275,000 F







$170,000 F

11. BETASSA Company manufactures remote control devices for garage doors. The following information was collected during June:
Actual market size (units)
10,000

Actual market share
32%

Actual average selling price
$10.00

Budgeted market size (units)
11,000

Budgeted market share
30%

Budgeted average selling price
$11.00

Budgeted contribution margin per

  composite unit for budgeted mix (average)
$  5.00

What is the market-size variance?  [4 pts.]
(10,000 – 11,000) x 0.30 x $5 = $1,500 U

What is the market-share variance?  [4 pts.]

10,000 x (0.32 – 0.30) x $5 = $1,000 F

12. Outputs (from a joint process) with zero sales value are accounted for by

A.  listing these various outputs in a footnote to the financial statements.

B.  including the items as a relatively small portion of the value assigned to the products produced during the accounting period.

C.  making journal entries to reflect an estimate of possible values.

D.  none of the above.

13. An unfavorable flexible-budget variance for variable costs may be the result of:

A.  using more input quantities than were budgeted

B.  paying higher prices for inputs than were budgeted

C.  selling output at a higher selling price than budgeted

D.  Both a and b are correct.
14. KUROKAWA Battery Company has two service departments, Maintenance and Personnel. Maintenance Department costs of $160,000 are allocated on the basis of budgeted maintenance-hours.  Personnel Department costs of $40,000 are allocated based on the number of employees. The costs of operating departments A and B are $80,000 and $120,000, respectively. Data on budgeted maintenance-hours and number of employees are as follows:

	
	Support Departments
	Production Departments

	
	Maintenance Department
	Personnel

Department
	A
	B

	Budgeted costs
	$160,000
	$40,000
	$80,000
	$120,000

	Budgeted maintenance-hours
	80
	400
	480
	320

	Number of employees
	20
	10
	80
	240


Using the direct method, what total amount of support department costs will be allocated to Department B?  [6 pts.]


 Maint. to B = 320/800 x $160,000 = $64,000


Personnel to B = 240/320 x $40,000= $30,000


TOTAL =  $94,000

Using the step-down method, what total amount of support department costs will be allocated to Department B if the service department with the highest percentage of interdepartmental support service is allocated first?  [6 pts.]


Maintenance provided to Personnel: 400/1,200= 0.333


Personnel provided to Maintenance: 20/340= 0.059


Maintenance provides the greatest amount of service to support departments, so it is allocated first.   



Maint. to Dept B: 320/1,200 * $160,000 = $42,667.00


Maint. to Personnel: 400/1,200 * 160,000 = $53,333.33


Personnel to B: (240/320) * ($40,000 + $53,333.33) =  0.75 * $93,333.33 = $70,000

Total to B = $112,667.
What is the equation for the Maintenance Department’s artificial cost if the reciprocal method is used?  Carry answer out to 4 decimal places.  [6 pts.]   


M = $160,000 + 20/340  P = $160,000 + 0.0588235
15. SCHOON Sauce Company processes tomatoes into catsup, tomato juice, and canned tomatoes. During the summer of 2008, the joint costs of processing the tomatoes were $420,000. There was no beginning or ending inventories for the summer. Production and sales value information for the summer were as follows:

	Product
	Cases
	Sales Value

at Splitoff Point
	Separable Costs
	Selling Price

	Catsup
	100,000
	$6 per case
	$3.00 per case
	$28 per case

	Juice
	150,000
	8 per case
	5.00 per case
	25 per case

	Canned
	200,000
	5 per case
	2.50 per case
	10 per case


Determine the amount of joint cost allocated to each product if the estimated net realizable value method is used.    [9 pts.]

	Product
	Expected

Sales Value
	Separable

Costs
	Net Realizable

Value
	Percentage

	Catsup
	$2,800,000
	$300,000
	$2,500,000
	35.71%

	Juice 
	3,750,000
	750,000
	3,000,000
	42.86%

	Canned 
	2,000,000 
	500,000
	1,500,000
	21.43%

	
	
	
	
	

	Totals
	
	
	$7,000,000
	100.00%


	Product
	Percentage
	Joint Costs
	Allocated

	Catsup
	35.71% x
	$420,000 =
	$150,000 

	Juice
	42.86% x
	420,000 =
	180,000 

	Canned
	21.43% x
	420,000 =
	90,000 


If you used the Constant Gross Margin Net Realizable Value method, what would be the constant-gross-margin percentage?   [4 pts.]


Total sales =  $2.8M + 3.75 + 2.0M = $8.55M


Joint costs = $0.42M


Separate costs = 0.3 + 0.75 + 0.5 = 1.55M


GM = 6.58 M;   GM% = 6.58/8.55 = 0.7695906
If you used the sales-value-at-splitoff method, how much joint cost would be allocated to Catsup?  [3 pts., no partial points]
$600,000 / (600,000 + 1,200,000 + 1,000,000) = 600/2800 = 0.2142857

 $420,000 * 0.2142857 = $90,000
16. The Assembly Division of American Car Company has offered to purchase 90,000 batteries from the Electrical Division for $100 per unit.  At a normal volume of 250,000 batteries per year, production costs per battery are as follows:

	Direct materials
	$  40

	Direct manufacturing labor
	28

	Variable factory overhead
	12

	Fixed factory overhead
	50

	     Total
	$130


The Electrical Division has been selling 250,000 batteries per year to outside buyers at $137 each; capacity is 350,000 batteries per year.  The Assembly Division has been buying batteries from outside sources for $130 each.

If the transfer price is set at $120/battery, would this be in the best interests of the Corporation?  If internal transfer is in the best interests of the corporation, how much will it save?  Give total dollar amount.  [4 pts.]

YES.   With excess capacity, the $120 exceeds the incremental costs to produce.  Currently, the company is paying an outside source $130/battery for a battery that would cost $80 incrementally to product inside.

The corporation would be better off by $50/battery = $4,500,000 

If the Assembly Division manager and the Electrical Division manager are allowed to negotiate a transfer price, what is the min. and max. transfer price?  [4 pts.]


Max. = $130  (market price to buy division)


Min. = $80  (incremental cost with excess capacity)

Now assume that the Electrical Division has just signed a new deal to sell 50,000 batteries/year to Costco for $126 each.  As part of this agreement, the Electrical Division will have to pay a $2 million fine if it delivers anything less than 50,000 batteries/year to Costco.  The Assembly Division wants to buy 90,000 (all or nothing) batteries from the Electrical Division.  If the Assembly Division manager and the Electrical Division manager are allowed to negotiate a transfer price, what is the min. and max. transfer price?  [4 pts.]  Hard question.

Max. = $130  (market price to buy division)


Min. = $80 + lost CM;  lost CM = ($57/battery * 40,000)/90,000 batteries = $25.33

Min. = $80 + $25.33 = $105.33
17.  In analyzing transfer prices, the

A.  buyer will not willingly purchase a product for less than the incremental costs incurred to manufacture the product internally.

B.  seller will not willingly sell a product for less than the incremental costs incurred to make the product.

C.  buyer will willingly pay more than the max. transfer price.

D.  buyer will not pay less than the max. transfer price.

18.  The benefits of a decentralized organization are greater when a company 

A.  is large and unregulated.

B.  is facing great uncertainties in their environment.

C.  has few interdependencies among division.

D.  is all of the above.

19.  What is the term used to describe the situation when a manager's decision which benefits her subunit is more than offset by the costs to the organization as a whole?

A.  Suboptimal decision making

B.  Functional decision making

C.  Congruent decision making

D.  Both (B) and (C)

E.  none of the above

20. The Alpha Beta Corporation had the following information for 2008:

Revenue
$   900,000

Operating expenses
670,000

Total assets
1,150,000


What is the return on investment?

A.  10%

B.  20%

C.  25%

D.  78.2%

21.  A problem with using residual income is that a corporation with a:

A.  high investment turnover ratio always has a higher residual income than a corporation with a smaller investment turnover ratio.

B.  high return on sales always has a higher residual income than a corporation with a smaller return on sales.

C.  larger dollar amount of assets is likely to have a higher residual income than a corporation with a smaller dollar amount of assets.

D.  None of these answers is correct.

22. Springfield Corporation, whose tax rate is 40%, has two sources of funds: long-term debt with a market value of $8,000,000 and an interest rate of 8%, and equity capital with a market value of $12,000,000 and a cost of equity of 12%.  Springfield has two operating divisions, the Blue division and the Gold division, with the following financial measures for the current year:

	 
	Total Assets
	Current Liabilities
	Operating
Income

	Blue Div.
	$9,500,000
	$2,800,000
	$1,055,000

	Gold Div.
	$11,000,000
	$2,200,000
	$1,200,000



What is Economic Value Added (EVA®) for the Blue Division? [6 pts.]
A.  –$233,400

B.  $  21,960

C.  $188,600

D.  $433,960

23. Provide the missing data for the following situations:

	
	Red Division

	Sales
	$A

	Net operating income
	$200,000

	Operating assets
	$B

	Return on investment
	0.16

	Return on sales
	0.04

	Investment turnover
	C


Answer:


Red Division:



ROI
= ROS x IT



0.16
= 0.04 x IT



C. IT
= 4.0



ROS
= Income/Sales



0.04
= $200,000/Sales



A.  Sales 
= $5,000,000


IT
= Sales/OA



4
= $5,000,000/OA



B. OA 
= $1,250,000
24. A favorable price variance for direct manufacturing labor might indicate that:

A.  employees were paid more than planned.

B.  budgeted price standards are too tight.

C.  underskilled employees are being hired.

D.  an efficient labor force.

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 25 THROUGH 27:

Ruben’s Camera Shop has prepared the following flexible budget for September and is in the process of interpreting the variances. F denotes a favorable variance and U denotes an unfavorable variance.

Flexible
------------Variances-------------


Budget
Price
Efficiency

Material A
$20,000
$1,000F
$3,000U

Material B
30,000
500U
1,500F

Direct manufacturing labor
40,000
500U
2,500F
25.
The MOST likely explanation of the above variances for Material A is that:

A.  a lower price than expected was paid for Material A

B.  higher-quality raw materials were used than were planned

C.  the company used a higher-priced supplier

D.  Material A used during September was $2,000 less than expected

26.
The actual amount spent for Material B was:

A.  $28,000

B.  $29,000      $30,000 + $500 U – $1,500 F = $29,000
C.  $30,000

D.  $31,000

27.
The MOST likely explanation of the above direct manufacturing labor variances is that: 

A.  the average wage rate paid to employees was less than expected


B.  employees did not work as efficiently as expected to accomplish the job 

C.  the company may have assigned more experienced employees this month than originally planned

D.  management may have a problem with budget slack and might be using lax standards for both labor-wage rates and expected efficiency

THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 28 AND 29:

Northwoods manufactures rustic furniture. The cost accounting system estimates manufacturing costs to be $90 per table, consisting of 80% variable costs and 20% fixed costs. The company has surplus capacity available. It is Northwoods’ policy to add a 50% markup to full costs.

28. Northwoods is invited to bid on a one-time-only special order to supply 100 rustic tables. What is the lowest price Northwoods should bid on this special order? 

A.  $6,300

B.  $7,200   $90 x 80% x 100 tables = $7,200
C.  $9,000

D.  $13,500

29.
A large hotel chain is currently expanding and has decided to decorate all new hotels using the rustic style. Northwoods Incorporated is invited to submit a bid to the hotel chain. What is the lowest price per unit Northwoods should bid on this long-term order?

A.  $63

B.  $72

C.  $90

D.  $135   $90 + ($90 x 50%) = $135
30. Which of the following minimize the risks of outsourcing?  [3 pts.]
A.  the use of short-term contracts that specify price.

B.  the responsibility for on-time delivery is now the responsibility of the supplier.

C.  building close relationships with the supplier.

D.  All of these answers are correct.

31. Relevant costs in a make-or-buy decision of a part include:   [3 pts.]
A.  setup overhead for the manufacture of the product using the outsourced part.

B.  currently used manufacturing capacity that has alternative uses.

C.  annual plant insurance costs that will remain the same.

D.  corporate office costs that will be allocated differently.
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